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.opt plotwinsize=0

.tran 0 {16/F} {8/F} {8/(F*20)/16535}

.param F=60 Rrect=10 Rfilt=3.9k Crect=10n

.SUBCKT 6DJ8 1 2 3  ; P G C; NEW MODEL
+ PARAMS: MU=28 EX=1.3 KG1=330 KP=320 KVB=300 RGI=2000
+ CCG=2.3P  CGP=2.1P CCP=.7P  ; ADD .7PF TO ADJACENT PINS; .5 TO OTHERS. 
E1 7 0 VALUE=
+{V(1,3)/KP*LOG(1+EXP(KP*(1/MU+V(2,3)/SQRT(KVB+V(1,3)*V(1,3)))))}
RE1 7 0 1G
G1 1 3 VALUE={(PWR(V(7),EX)+PWRS(V(7),EX))/KG1}
RCP 1 3 1G    ; TO AVOID FLOATING NODES IN MU-FOLLOWER
C1 2 3 {CCG}  ; CATHODE-GRID; WAS 1.6P
C2 2 1 {CGP}  ; GRID-PLATE; WAS 1.5P
C3 1 3 {CCP}  ; CATHODE-PLATE; WAS 0.5P
D3 5 3 DX     ; FOR GRID CURRENT
R1 2 5 {RGI}  ; FOR GRID CURRENT
.MODEL DX D(IS=1N RS=1 CJO=10PF TT=1N)
.ENDS

.ic V(vp_left)=117.3 V(vn_left)=-117.3 V(vp_right)=117.3 V(vn_right)=-117.3 V(vp)=165 V(vn)=-16

* 1N4004C - copyright Cordell Audio November 23, 2010
.model 1N4004C D  (IS=500p RS=0.12 BV=400 IBV=5.00u
+ CJO=40p  M=0.35 N=1.6 TT=4u mfg=CA112310)
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